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POPULATION STUDIES
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Identify the correct chronological order of the following 4 sources of population data
as they appeared in India.

National Sample Surveys (NSS)

National Family Health Surveys (NFHS)

Sample Registration System (SRS)

Reproductive and Child Health Surveys (RCHS)

(A) NSS, NFHS, RCHS, SRS (B) NFHS, NSS, RCHS, SRS
(C) RCHS, NSS, NFHS, SRS (D) NSS, SRS, NFHS, RCHS

2.  Assertion (A) : Coverage of civil registration in India is poor.
Reason (R) : Utility of vital registration is low.
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(
(C) (A) is true, but (R) is false
(D)

D) (A) is false, but (R) is true
3.  Model Registration System is meant for collection of data on .
(A) Causes of Deaths (B) Marriages (C) Births (D) Deaths
4. According to 2001 census, the number of Towns and Cities is close to which of the
following ?
(A) 4000 (B) 5000 (©) 6000 (D) 7000
5. In 2001 census of India population enumeration was undertaken between which of
the following dates ?
(A) 1 to 15 February 2001 (B) 9 to 28 February 2001
(C) 1 to 15 March 2001 (D) 9 to 15 March 2001
6.  Dual Reporting system is followed in .
(A) Civil Registration System (B) Sample Surveys
(C) Model Registration System (D) Sample Registration System

D —-1505 2



SAHEAT I
g9 uT —11

A : T TS | e (50) 9g-fahedia ue ¥ 1 Ue U % & (2) 3ok &1 el el o I
Hisd
1. YR H SHUSAES 3Tl & AR 4 il Sl 3k Yohed o HIcdehH H Fafeed 1 :
T HYA T (NSS)
e el god Hes (NFHS)
Huet Fergem faen (SRS)
furefaed woe =Eee 3oy Haisl (RCHS)

(A) NSS, NFHS, RCHS, SRS (B) NFHS, NSS, RCHS, SRS
(C) RCHS, NSS, NFHS, SRS (D) NSS, SRS, NFHS, RCHS

2. AT (A) : IRA § SHoGHE GSTIA 1 GRYUA &H (poor) ¥ |
SHIUT (R) : STEGHE GSo i ST sgd &4 |
(A) TH (A) TH (R) 93 &, T (R), (A) T T& =0 §
(B) THI (A) TH (R) ¥ €, AR (R), (A) i TE =& T& §
Q) (A) ¥ g, dferd (R) Tod ©
(D) (A) TTed &, &fehd (R) 9 §

3. Hied USiEA UG 1 SN T AThS 3H HH & ey feman S B
(A) TG & B (B) fomme (C) s (D) TH

4. 2001 SFRIVMT o STER sl iR el & e fefatead § 4 forgss fae §2
(A) 4000 (B) 5000 (C) 6000 (D) 7000

5.  YRd i SFEOMET 2001 | fFfafad | 9 foa fafeai o s SHEea-TTom1 ot i foran T e ?

(A) 1-15 ®ed 2001 (B) 9-28 W 2001

(C) 1-15 == 2001 (D) 9-15 9= 2001
6. ‘Tafufmfaeasmegamm_ #fFam el

(A) T gSteA Tgfa (B) AT WA

(C) Hrew wSiad wgfa (D) 9T US vgfa
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10.

In Computing Sex Age Adjusted Birth Rate (SAABR), the UN recommended set of
weights in their order of :

(A) 1,6,7,7,4,1 B) 1,7,7,6,4,1
© 1,446,771 (D) 1,1,4,6,7,7

Match List - I with List - II :

List - I (Instruments) List - II (Purpose)
(a) Lexis diagram (i)  Age structure
(b) Myer’s Index (i) Construction of life table
() Reed - Merrel Tables (iii) Digit preference
(d) Population Pyramid (iv) Population in time age plane

(v)  Concept of optimum population

Code : @ () (© (@
(A) (v) (@) @ @
(B) @ (O @)
(©) () (@) (v) @
(D) (i) ) @) @
Match List - I with List - II :

List - I (Model) List - II (Formula)
(@) Arithmetic growth model (i) P,=Poe"
(b) Geometric growth model (i) Pi=1+rt)
(c) Exponential growth model (i) P,= ab®
(d) Logistic growth model (iv) Py=(1+1)t

k

S P

Code : @ @) () ()

(A) (i @) @ O
(B) (i) Gv) () (@)
(© (v) (v) (D) (i)
(D) i @) O O

The four most populous countries in the world in descending sequence are :
(A) China, India, Brazil, Bangladesh

(B) China, India, Brazil, United States of America
(C) China, India, United States of America, Indonesia
(D) China, India, Indonesia, Brazil



7. TELTSLAR & AT H JUAA IR & T2 F 30 T i TG 6 §
1,7,7,6, 4,1
1,1,4,6,7,7

(A) 1,6,7,7,4,1
(C 1,456,771

8. g -1 1 g -1 & T HA foand |
T - 1
(3UhT)
(a) Iforad =™
(b) T TS
() - TgeH
(d) dgereH fufae

g : (@ (b) () (d)
A) Av) (i) @) ()
i) (@) @) (v)
H) () d
i) ( (

iii) (V) i

(

(iii)
(iv)
(iv)

v

(
(
(

~ ~—

9. e -1 1 g -11 % T HeA faand |
T - 1
(Hree )

) A gfg drea

b) SHHAE gfg A

c) HdE ghg A

d) aifsfe® gfg Area

3 @@ (b) (o) (d)
(A) (i) @) O W
(B) (i) (@v) () (@)

(© (v) (v) (D) (i)
(D) @i @) O O

T - 11

(33399)

Y WA

T g T T

fefSte futhid

THY - 37 Hde I SHEEA
TRAH SHEAT i TR

10. freAfafed § @ ®F 9 fawes § T2 S ol TR SHGSA & T A § WM § 2

(A) =, R, STSie, SRy

(C) =, vrd, §g% ToF TAfER], geRfmn
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11.

12.

13.

14.

15.

16.

17.

Identify the correct sequence according to proportion of 60 and above population as
per 2001 census of India in descending order.

(A) Kerala, Himachal Pradesh, Punjab and Tamil Nadu

(B) Himachal Pradesh, Kerala, Punjab and Tamil Nadu

(C) Punjab, Himachal Pradesh, Kerala and Tamil Nadu

(D) Tamil Nadu, Himachal Pradesh, Punjab and Kerala

Assertion (A) : Proportion of world’s population aged above 60 years is
increasing.

Reason (R) : Expectation of life is increasing due to declining mortality of the
world.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Which among the following States are Registered highest percentage of scheduled caste
population to its total population ?

(A) Andhra Pradesh (B) Bihar (C) Punjab (D) Uttar Pradesh

Assertion (A) According to 2001 census of India, Uttar Pradesh is the largest
populous state of the country.

Reason (R) : Uttar Pradesh has the highest number of districts in the Indian
States.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

According to 2001 census of India, the density was the highest in .
(A) Kerala (B) Tamil Nadu (C) West Bengal (D) Maharashtra

Assertion (A) Total Fertility Rate (TFR) in Northern Indian States is high.
Reason (R) : Northern Indian States are less urbanised.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Assertion (A) Replacement level in India is getting delayed.
Reason (R) : India’s population size is large.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

D —-1505 6



11.

12.

13.

14.

15.

16.

17.

R ! STTOAT 2001 H fST T 37ihel & SMER W 60 ¥ qen 21ferh i 3Tenet o gfaerd &
STTUR W21 SToRE A &IF 91 ¥

(A) &, Teu=d Jew, USE ao1 afeg (B)  foHTel Uew, o, ISTe ql afHerrg
(C) Her, feuTeret Uew, e, a0 aferrg (D) dfHerrg, fenmeel yew, s, e e

FeF (A) : fova | 60 I % W HI SHAEE H HHANIN 9¢ @ 2 |
HR (R) @ forea ot sedt 9 S S goamen o9¢ @ ¢

(A) T (A) T (R) ¥ &, 3R (R), (A) &I T&l = §

(B) T (A) T (R) e €, Wl (R), (A) T & = 7 @
(C) (A) 9 g, dfeh (R) Tord §

(D) (A) 7o 8, Wifeh (R) 9 ©

Frefafed T 5 9 o 359 § ot SEeEn & 1iiea H stafea st o wfae sifeemag €2
(A) 3T g (B) for (C) dem& (D) WU

HYT (A) : WRAAY FI 2001 FHT SFTUMET 6 FTIR ST ¥ Tord ek STEE] A 9 2 |
HIUT (R) : YR & Tl § SR Y9 § Tod 1fereh fet €|

(A) (A) W (R) SF T3 &, 3R (R), (A) T T& =00 §

(B) (A) W (R) I T & wfeh (R), (A) I TE = e &

(C) (A) A ¥, afehT (R) TTord §

(D) (A) e B, Wfehd (R) 9 §

ARA &1 SFIUET 2001 o STER ¥ o sifyehad o |

(A) H (B) dfHerrg (C) uf¥=m ST (D) WEN®
HIT (A) : WA F 3T T H Fohel U1 R (TFR) 5 B

HIUT (R) : 9RA & IAU o2l 1 IEAh0T 7 g3 T |

(A) THI(A) TE (R) 9 T, 3R (R), (A) T T2 AT §

(B) M (A) T (R) I &, KA (R), (A) i Tl = Tl ©

(C) (A) A ¥, afehd (R) TTord §

(D) (A) T &, &ifehd (R) 9 §

HIT (A) : TR H Ffqeen it R faafed & @ )

WHIUT (R) : 9Rd ! e faenet § |

(A) TH (A) T (R) 9 &, 3R (R), (A) T T2 =0 ©

(B) M (A) T (R) T ¥, Afeh (R), (A) i &l =re & &
(C) (A)w%éﬁﬂ(mw%

(D) (A) T ¥, Afh (R) 9T §
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18.

19.

20.

21.

22,

Assertion (A) Female’s age at marriage is still low in rural India.
Reason (R) : Prevailing dowry system is one of the reason in the society.
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

Match List - I with List - II :

List - I List - IT
(a) Hajnal (i)  Regional model life table
(b) Coale and Demeney (i) Intermediate variables frame work
(c) Davis and Blake (iii) Proximate Determinants of Fertility
(d) Bongaarts (iv) Singulate mean age at marriage
(v) Logit life table

Code : @ @) () ()

(A) ® @) () @)
(B) (iv) (@) () (i)
(© (i) @) @ @)
(D) (i) @) @Gv) @

The recent crude Birth Rate in India is around :
(A) 24 (B) 26 (C) 28 (D) 30

In the following which category represents the States in the ascending order of Crude

Birth Rates :
(A) Kerala, Karnataka, Bihar, Madhya Pradesh

(B) Karnataka, Bihar, Kerala, Madhya Pradesh
(C) Bihar, Karnataka, Madhya Pradesh, Kerala
(D) Bihar, Madhya Pradesh, Karnataka, Kerala

Arrange States in ascending order according infant mortality rate :
(A) Uttar Pradesh, Madhya Pradesh, Orissa and Rajasthan

(B) Orissa, Madhya Pradesh, Uttar Pradesh and Rajasthan
(C) Madhya Pradesh, Orissa, Rajasthan and Uttar Pradesh
(D) Rajasthan, Uttar Pradesh, Madhya Pradesh and Orissa

D —-1505 8



18.

19.

20.

21.

22.

HYT (A) : THU WRA | Afgensdi § foamg & 39 o1+t oft w7
SHIOT (R) : TS B foamm <2 9 T SR ¢ |

(A) THI (A) T (R) ¥ T, 3R (R), (A) I H& AR §

(B) THI (A) TH (R) ¥ €, AR (R), (A) i TE e T& §
Q) (A) 99 ¥, Afhd (R) T §

(D) (A) TTed &, &fehd (R) 9 §

G -1 1 g -11 % |1 v ferend |

(a) T () RoFa Aied AR
(b) I qAT S (i) sUewifete SRuscd %A &
(c) <fom qun =R (iii) HiforaHe feefiuen sifw widfafe
(d) e (iv) foere HiH Tl e W
(v) S e 2o

< : (@ (b (9 (9

(A) @ @) () (i)

(B) (iv) @) @) (i)

©) (i) @) @ ()

(D) i) @) () @)

qRA § 7 STRNfea S=I-o8 T gl

(A) 24 (B) 26 (C) 28 (D) 30

frafafeaa § & &F F Hife sTenfa SR & RE %9 § T2 1 gfaffe w82
(A) HA, Flesh, ToRR, AL qaw
(B) e, TR, id, AL Uoul
(C) ToRR, FHlesh, HeA U, Hid
(D) fo&R, A&A UQEI, SHAleeh, Hid

919 T <X % S8R S |1 fashed 541 1 TRE FH B afeerd 1 § 2
(A) T Y, TET YT, IS a1 TSTEA
(B) ISHI, HEA Yo, ITR YW T TSTEA
(C) TEA Ye¥, ISHT, TSTEAM A1 I JeH
(D) TSR, I U], HEA You a4l IS
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23. In India, Infant mortality rate during the recent period is around

(A) 105 (B) 85 (C) 65 (D) 45

24. Assertion (A) : According to recent U.N. publication, longevity of females in
Japan is highest in the world.

Reason (R) : Divorce rate in Japan is highest.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

25. Assertion (A) : HIV spreads through Homosexuality.
Reason (R) : Use of condom prevents from HIV.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

26. Match List - I with List - II :

List - I List - II

(Definitions) (Life Table Functions)
(a) Probability of death during age (i) my

xt,ox+1
(b)  Expectation of life at birth (i) qy
() Number of years survived in the i) Io

age group (x, x+1)
(d) Radix (iv) Ly

(A) (i @v) (v) (i)
(B) (i (v) (v) (i)
(© (iv) (v) (@) (i)
(D) (i) @v) () (V)

D —-1505 10



23.

24.

25.

26.

T 1 ety H ura | oy gog <X e gl
(A) 105 (B) 85 (C) 65 (D) 45

HAT (A) : HIH T F Teh 1A Yeh9H o STTER STIH ki Afecrd ghan H god aifus 3
et Bt € |

WHIUT (R) : ST H qeileh-a S=ad & |

A) THI (A) 3R (R) 9@ §, 701 (R), (A) I 9& = §

B) THI (A) 3R (R) &l €, Afh (R), (A) T Tl A7 Tl §
C) (A) && ¥, Af#d (R) o ©

D) (A) 7o €, wfeh (R) ol §

(
(
(
(

HIT (A) : TS, GHATThd & Therar g1

THIOT (R) : HSH I TN TH. 3TE, ot 1 Jehell T

(A) THI(A) 3R (R) T&I €, T (R), (A) i T A1 §
(B) T (A) 3R (R) W& ¥, TN (R), (A) ! T =08 Tal ©
Q) (A) T& T, aferd (R) Tod §

(D) (A) e &, Afed (R) T8 ©

T -1 1 G -11 o 9 A forerd |
Tl - 1 (afewT) T - 11 (T 2T o il )

(a) xtcﬁx+15ﬁmaﬁ3ﬁfaﬁwaﬁﬁw (i) my

(b) S %k HHI 3T T TN () qy

€ x x+17% SP-T0 H Sfifad B & Ul 0t HE&A (iii) Ig

(d) etk () (iv) Ly
(v) €%

3 @@ (b) (9 (d)

(A) (i) (v) (v) (i)

(B) (i) (v) (v) (i)

©) (iv) (v) (i) (i)

(D) (i) (v) (i) (v)
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27.

28.

29.

30.

Match List - I with List - II :

List - I

(Terms)
(a) Postneonatal mortality (i)
(b) Neonatal mortality (ii)
(c) Infant mortality (iii)
(d) Child mortality (iv)

(v)

Code @ () (¢ (d)
(A) (v) @ () (i)
(B) (iv) () () (V)
(© M @) () @)
(D) (i) @ @@ )

List - II

(Meanings)

Deaths within 28 days of life
Deaths within first year of life
Deaths during 1 - 4 years of life

Deaths seven days before and after
delivery

Deaths during 29 to 365 days of life

Infant Mortality is measured as the number of Infant Deaths per 1000

(A)

(C) Pregnancies

Population (B)
(D)

Live Births
Living Children

In India, data on marriages and related aspects are not available in

(A) Census (B)
(C) National Sample Surveys (D)
Match List - I with List - II :

List - I

(Person)
(a) Ravenstein (1)
(b) Zipt (ii)
(c) Sjaastad (iii)
(d) Todaro (iv)

v)

Code : @ @) () ()
(A) v) (V) (i) (@)
(B) 0 () () @)
(©) v) (i) () ()
(D) () () () @)

D —-1505 12

Model Registration System

Sample Registration System

List - II

(Term)

Intervening opportunities
Rural - urban migration
Gravity model

Law of migration

Human Investment theory



27. G -1 1 g -1 % e A foand |

et - 1(Ug)
(a) SR
(b) AT g
© FyT3
(d) dmet gg
FT : (@ () ()
(A) v) (@@ (i)
(B) (iv) (i) (i)
© (@ () (i)
(D) (i) (@) (i)

28. T¥1g 97 St A9 Uid 1000
Sfted S

(A) SHEE (B)

29. uRA H foaRl IR T8 Hefud weqel W siiws

(A) SO
(C) T T A&

30. e -1 1 g -11 % G0 A fand |

it - 1 (eafer)
Wyt
fsraR
c) HdId
d) <rEr

TS0E3 Y
=
G
o

D —-1505

(d)

Tl - 11 (1)

i) =928 fAl i ety § g
i) S 9 T Y hl A H g

iv) WEa % 9 Al 6 g8 SR 9vE g
v) S H 29 9365 Tl @t erafy § 4oy

(
(
(i) S H 1-4 99 F e7afY H g
(
(

-9 % ®9 H it 9 7

(C) THYRY (D)
Y 3Iues T g
e UsiaA ugfa

(D) AT IS ggfa
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31.

32.

33.

34.

35.

Assertion (A) Sub-urban settlements are increasing in metropolitan cities of
India.

Reason (R) : Natural growth rate is higher in metropolitan cities.
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Assertion (A) Life time migration among females is highest in India.
Reason (R) : Migration is more among females due to marriage.
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Assertion (A) Population Growth in urban areas is higher than in Rural Areas.

Reason (R) : Urban populations have higher fertility than in Rural
populations.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

Which one of the following is not a criterion for classifying an area as ‘urban’ ?

(A) Municipality (B) Density of population

(C) Working population (D) Per Capita Income

Match List - I with List - II :

List - I List - II
(Person) (Theory)
(a) Enke (i)  The limits to growth theory
(b)  Easterlin (i) Wealth flow theory
(c) Liebenstein (iii) Cost - Benefit analysis
(d) Meadows (iv) Demographic Transition Theory
(v) Cn, Cd frame work
Code : @ M) (¢ (d)
(A) (i) (v) (@v) @)
(B) (i) @v) () (V)
(© (i) @ @) )
(D) (iv) (v) (D) (i)

D —-1505 14



31.

32.

33.

34.

35.

HIT (A) : YR &% HeFH B Ifdl (STAR) o8 W/ |

HIUT (R) : AR § w@nefas gig o 1 7

(A) TFI(A) 3R (R) T&I €, T (R), (A) t TE A1 §

(B) THI (A) 3R (R) T& ¥, AfA (R), (A) H T = T ©
Q) (A) T& T, afed (R) Ted §

(D) (A) & &, Afed (R) T8 ©

HAT (A) : WRATY § Afeenst ‘TEH-a=H’ (life time) TIET fHH 7
HIT (R) : Toame =t avte § Afeensti  yowq s1fyw T

(A) TFI(A) 3R (R) T&I €, T (R), (A) S TE A1 §

(B) THI (A) 3R (R) T& ¥, AfFA (R), (A) F T = T ©
Q) (A) T T, afed (R) Ted §

(D) (A) e &, Afed (R) T8 ©

HYT (A) : TH & AT AT H Y & H STTHES H ghg SAR S|
THWOT (R) : ATHIOT ST hi 31987 R0 STaret i tferer gigemd suersy ¥
(A) TFI(A) 3R (R) T €, T (R), (A) T TE A1 §

(B) THI (A) 3R (R) T& ¥, AfA (R), (A) F T = T ©

Q) (A) T T, afed (R) Ted §

(D) (A) 7T &, Wfehd (R) W& §

frAfafed ®§ @ oF fHE & &l IRl & ®9 H ailihd i i Al Tg@l § 7
(A) TRATfCTeh (B) SIFHEAT 1 T
(C) HTHIST SHEEA (D) ufa-=afer s

G -1 1 g -11 % |1 v ferend |
eIt - 1 (=afert ) eIt - 11 (fagia)
(a) Ts i) dfg = dmei % fagia
(b) sl (i) =A-yare fagia
(c) ST (i) RTA-eY fagerso
(d) W (iv) SHifRehia Hspal fogid
(v) Cn, Cd %H T

—_—
M -]
PR -
—_—
=3
~—
—_—
(e
~—

o~~~ o~

SoE=>
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36. Match List - I with List - II :
List - I (Theory) List - II (Person)

(a) Social Capilarity Theory (i) Caldwell

(b) Theory of change and response (i) Double day

(c) Wealth flow theory (iii) Dumont

(d) Diet Principle (iv) Kingsley Davis
Code : @ () (¢ (d)

(A) (iv) () @) @

(B) O G () @)

(© (i) @) @Gv) (@)

(D) (i) (v) @ (i)

37. A systematic analysis of demographic transition theory was done by
(A) Warren Thompson (B) C.P. Blacker
(C) F.W. Notestein (D) Louis Henry

38. Match List - I with List - II :

List - I List - II
(Major themes discussed) (Place of conference)
(a) Development is the best contraceptive (i) Cairo
(b) Reproductive Health Rights (i) Rio Dejaneiro
(c) Empowerment of women (iii) Bucharest
(d) Health for all by 2000 A.D. (iv) Beijing
(v) Alma Ata

Code : @ @) () ()

(A) (i) @ (@) )
(B) (i (v) (v) (i)
(© (i) G (v) @

(D) (v) @ (D) @)

39. Sustainable development is a function of :

(A) Population growth, resources and environment only

(B) Population growth, resources, environment and technology only
(C) Population growth, resources and technology only
(D) Resources and technology only

D —-1505 16



36.

38.

39.

G -1 1 G -11 3 |1 v ferend |
gt - 1 (Tagia) et - 11 (Afer )
(a) W hiyare foed i I

(b) Tl Sifw < woe Wiy (

(c) o vl forrd (i) <gHIE
d) e fhfauea (

G -1 o1 g -11 o |1 5 foend )
Tl - 1 (=fea ga fower) Tl - 11 (T T T )
(a) SIAAHUE TS T S sherdfied (i
(b) Trefes Toy TgeH (
(c) THEHTE 3 JHT (iii) TR
( (i

(

d) BT ®R 3 a1 2000 AD.

@ k) © @
I CRORN O
(i) (v (iii)
@ @ 0
© @ (

iv)

iv)

(
(v
(

~—

iii)

RO R H HE T

(A) hadl SHUEA ghg, FHIEA T qIiew

(B) had ST gfg, WHIEH, TATER0T qe Yrenfirent
(C) Fad SHEA gfg, WA a0 Yt

(D) hael HETHA AT GrEnfient

D —-1505 17
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40. Match List - I with List - II :

List - I List - II
(Place of Conference) (Year)
(a) Bucharest (i) 1965
(b) Belgrade (i) 1974
(c) Beijing (iii) 1994
(d) Cairo (iv) 1998
Code : @ () () (@
(A) (iv) (D) (@) ()
(B) @) @) () (i)
(©) (i @ (@v) (i)
(D) (i) () @) ()

41. Gender disparity in migration is highest in India in the stream of :
(A) Rural to Rural Migration (B) Rural to Urban Migration
(C) Urban to Urban Migration (D) Urban to Rural Migration

42. Assertion (A) : Sex-ratio (females/1000 males) in India is low.
Reason (R) : Immigration of females in India is high.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

43. The sex-ratio (female per thousand male) is low in India because of :
(A) High male migration (B) Neglect of the female child
(C) High maternal mortality (D) All the above

44. Which of the following States had prepared the State Population Policy at first ?
(A) Madhya Pradesh (B) Andhra Pradesh
(C) Karnataka (D) Maharashtra

45. As per the National Population Policy - 2000, the goal for reducing infant mortality
rate (per thousand live births) is set at :

(A) Less than 30  (B) 31 -40 (C) 41-50 (D) 51 - 60

D —-1505 18



40. g -1 G -1 F Y B foend |

T - 1 (THAT T €I ) T - 11 (T )
(a) TERE () 1965
(b) T i) 1974
(c) difSm (i) 1994
d) H (iv) 1998

< : (@ (b (9 (9

(A) (iv) @) @) @
(B) @ @) () (i)
©) (i @ (v) (i)
(D) (i) @) @@ ()
41. WA H o H Yore H AfiTen STEHMar stfishan €
(A) T F YT Yers (B) T & T oIS
(C) T | T Yars (D) T 9 U Yors

42. HIT (A) : IRG H fET-STuE (S/1000 IET) FH ¥
SHIOT (R) : 9Rd | Afecnsii &1 soamd <X e 7
(A) TH (A) 3R (R) W&l €, 91 (R), (A) i T& =0 §
(B) T (A) 3R (R) W&l €, AfFA (R), (A) FT Tt = T ©
Q) (A) 9@ &, dfer (R) o ©
(D) (A) TTEd €, Ak (R) T2 &

43. % RO WA H fAT-< (Afeen ufd T 39K g8W) =7
(A) 3= qeY FolsH (B) fcreRtat shi SU&T
(C) ¥ HIg-FII-T (D) & & @

44. Tr=fafed = 4 9 fo9 T 7 999 T8I0 SHEE ifd 9IR & e ?
(A) U (B) g YW (C) wAte® (D) HBNI

45. T SHEE Aifd-2000 % FIER, RRI-9 & ®R (Ufd TR Stfaa-s=1) =1 il foren =
K

(A) 309 &H (B) 31 940 (C) 41950 (D) 519 60
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46.

47.

Direction (Question no. 46 to 50) :
Read the following paragraph carefully and answer the questions given at the end.

The Interrelation between population and resources is a difficult subject. For this
there seems to be several reasons. First, the two interacting sets of phenomenon
(resources and population) come from different universes of discourse. To bring them
together in a common frame of reference is not like comparing apples and oranges,
which at least are both fruit, but more like comparing, say houses and trees, or horses
and bacteria. The category “resources itself includes a huge and diverse miscellany of
things having little in common. Copper and fresh water, for example, have nothing in
common except that both are used by men.

Demography itself is a peculiar subject. It has developed analytic tools that can
be applied to non human as well as to human entitles - for instance, to telephone poles,
rabits, machines and cells. Scholars in the social sciences, however, are not used to
dealing with human beings in abstraction from ideas, motives and in general, subjective
aspects of behaviour. As a result, the demographer is often regarded in social science
circles as a mere provider of statistical facts, while economist, sociologist and social
psychologist provide interpretation. It frequently turn out, however, that the best person
to interpret the facts is the scholar who produced them in the first place.

As things stand, despite the intense public interest in population and resources
the subject receives little direct attention from demographers. The reason is not that
they regard it as unimportant, but rather that they take its importance for granted. For
instance, during the last three decades, a field of study much favoured by demographers
has been fertility in the Third World Countries. The most expensive survey ever
undertaken - the world fertility survey - was carried out during this period, as were
countless other surveys and studies. The reason for this interest is not a pre-occupation
with human fertility per se, but rather an unquestioned belief that high fertility is causing
too much population growth in the third world, straining limited resources. But
demographers have tended to rule themselves out of the direct study of environmental
and ecological questions. They feel that mastering the voluminous literature on human
demography is hard enough, without trying to cross the barrier separating social from
natural sciences.

In the above passage the author’s main idea moves around the theme :

(A) The different understanding of the natural resources by demographers and natural
scientists

(B) The inter relationship between population and resources
(C) The study of population and resources as an integrated discipline

(D) The study of fertility in the third world countries

Based on the above passage, among the following statements which one is correct ?
(i) Demographers are interested in studying fertility only

(ii) It is considered that demographers are mere providers of statistical facts

(iii) Demographers focussed little direct attention on population and resources

(A) () only (B) (ii) only (©) (iii) only (D) (ii) and (iii) only

D —-1505 20



46.

47.

frefafed Tmme 6 eI | 9g qe1 T W& 46-50 FHT W S |

SHEAT qUT HHEE] S S YRS HeH Ueh hicd faud §1 3Hh 3T+ ROl Jaid eI
T vum, A Q) wERimanie faw (darem aun shaen) foem & fafie e 9 e ¥ 5
el & ford TeREm g B Tk W1l o ST Tl qe Hall shi Gl h S TEl & e a9 Hay,
FHU-H FH, A ®e A & g T8 = a1 U A R =S qen SRt H e we S
31fek ® | el ot hife T H aegel o Uk fona den fafarmrget Sehe 1 wmifed s
& fore Tomand s1fa =7 St € 1 SeTeons], dien qe e 5o % i, 3% T S 7 3
ST 1 START F B, TS off TAE & B |

SHifeheRt wE | uen fafere fawg §1 g8 ol gfaaai 1 foefaa foan mn & fomem
STYANT | o T Aol Trsti - S8 eI o i, Women, Tefi qei shifrepsti - o ot
foran 11 wehan © | qenfy, Arrfsies fagmi o fagam wal, AfmRonsti qon s 2eER %
AT Teqall Sl ST T@ehs eI & He'el § faam & o TSt 76 € | 39 hereaey,
grTfSieRfaRmfag-Hved H SHifeharifacl 1 Hiferhia qeii &1 Y™ A1 THT ST 8, Safh
ST, THTSTRITG AT HAIfORT 3eh! ST SUeTsH HYd ¢ | Ty Sge UEn < § o1 §
TR qeall I Icqe hT aTe fagH & SehT HalaH Yo SARATRR Bl ¢ |

FaaM feufa ¥, Seen T SHrEEl § de SH-3Af4%E 8 6 SesE, SHifheRifaal 7 39
oo W yeet s e € 1 R I T R 3 38 Heeei 1d €, 3i1fug 33Uk v i
wa:fag 7F oid € | SSeEEy, gara-fava-<un | Cyete’ SHifhentfagl o1 TEdter favmes
W1 | 376 o 1 Tord HeT Faeru) - ¢ oee wisfafe e, qe 36t Yehr & SAiord Haiaqo qen
e - g erafy W Ry T & | Hre-gea | fava o atfueh doefiar SHeRT RUT T
sfesh sqH R 77 Tafdare favam % godia fava d @ @ swwen 9 safys gfg 5=
YA o R0 B R § e Hiftd Sene W geE 51 W T | T sHifhentfar] | qateria
T IRfEefaehTa Tl o Toael ST © T ol STl e it Yafd aiafed Bt 81 3 Hegd
F & TR, A fammi sl wehfaes fommi & gas s arel STeRiEeh ol TieM o1 JaH fhu
for, wrE SHifReRt W Suetsy faqermTers e § URITd BT 3Tcdd shic & |

uffefaa sgwor # oraes &1 9qE four forg wea )/ aud-fomg & -l s €72
(A) SHifReRITIR] T YTehfdeh-olIehi SR Thideh HHTEH ohi THe H 3T
(B) SHEEA q1 GHIEHA! % o= ureafien deiy

(C) U Tferd fawd o €9 § SHHEA 1 GHIEA] 1 T8

(D) e foma o <=1 | YA o1 TeEd

IuRfafad S50 & SHR R Frefafad § & wiF 91 %o w9 €2

(i)  SHifcReniforcl st e et o & AT | ©

(i) IS A S § TR SifeRifag Hifersnta el % g W §

(i) STTEEN TH GHEA R SRR A STEed T A Hhigd foha §

(A) HIAi  (B) hed ii (C) el ii (D) hereT ii QT iii
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48. The material in the passage could best be used in an argument for :
(A) studying population and resources as essential
(B) Bringing different specialists together
(C) High fertility straining limited resources
(

)
D) Mastering the voluminous literature on human demographs is hard

49. Asper the above passage whether it would be right to compare resources and population

with :
(A) Apples and Oranges (B) Houses and Trees
(C) Horses and Bacteria (D) Horses and Fresh Water

50. The tone of the passage can best be described as :

(A) Analytical and optimistic (B) Bised and unprofessional
(C) Critical and discouraged (D) Tentative and inconclusive
-00o0-
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48, IHH 3 H S TS Ired-TET H ST % &1 T ek < o fore foram < wekan B
(A) SHEA qU1 G 1 e e §
(B) fafis fomiv=l ol Tk |1 o
(C) 3= YSIH gN HifHd HHIeHi W e
(D) THa-SHifhet T IUeTey fagermmTeTs Wi | SHifhenttaal ol TR g

49. i R ST S50 H T, 1 TEIEAT q SHEE i go Y HET Ik 72
(A) Hai a1 Hal § (B) = A US ¥
(C) =i qen SR | (D) Sl qe =8 51d 9
50. 9 3§01 ! AfeAfa st Afd &1 aoH ®q H R S wehat ¥
(A) TogeroomeRs qe sTrmere (B) YATURUTIA T STATHIIHR
(Q) A= a1 FEwms (D) 3fHfa| qen Afuita
-00o0-
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